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Write the equation of a line p?aralfel to a given line

Write the equation of a line perpendicular to a given line

What do we need to write an equation for a line?
slope Q! 0pe + (x' ,9)
vertical

horizontal .
parallel Sam.Slo

perpendicular et p- ¥ 8 ppo.

spaghetti lines



1 Parallel Lines Lines in the same plane that do not intersect are called
parallel lines. Nonvertical parallel lines have the same slope.

A A 7
All vertical lines |———»
are parallel.
If two nonvertical lines
in a plane have the
same slope, then they

// / [e) X are parallel.
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Whiteboards
=mx+T

Write an equation in sl e-mtercept form for the lme that passes through the given
point and is arallel

(1), y=—x— fhegrz‘j*he‘ 2.(0,4),y=—4x+5
<X+ RS 4=-¢- o+]3

=3 +R Y =0 +R
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2 Perpendicular Lines Lines that intersect at right angles are called
perpendicular lines. The slopes of nonvertical perpendicular lines are

opposite reciprocals-aalis, if the slope of a line @ e slope of the line
perpendicular to it a

A

Vertical lines and
horizontal lines are
perpendicular.
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If the product of the slopes of
two nonvertical lines is —1, then
the lines are perpendicular.
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Determine whether the graphs of y = 5, x = 3,
y = —2x + 1 are parallel or perpendicular. Explaiﬁ.

What do we need to know so that we can answer the question?

y=5 is L t x=3



3. Determine whether the graphs 0] bx — 2y = —4}; ﬁif‘“d y=4are

parallel or perpendicular. Explain.
-Lx by
What do we need to know? = “ _-éx )

TR

-




< )(,""ms
Example 4 icuffr Line
atiia e:]:ation in slope-intercept forg for the line that passes through
% d is pelllaendicular to the graph ™ 2x + 3y = 12.
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W o we need to know?

m=:




What do we need to know?

Practice

rite an equation in slope-intercept r the line tHat passes through (4,7)

and is perpendicular to the graph of 1 - 1.
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Write an equation in slope-intercept form for the line that passes through the given
point and is perpendicular to the graph of the equation.

7. (=2,3),y=—3x — 4 8. (-1,4),y=3x+5

What do we need to know?







